Name: Group:

THE PICTURE OF DORIAN GRAY

For questions 1-8, choose the correct answer, A, B, C or D.

1 Where did Lord Henry Wotton tell Basil to exhibit his picture?
A At the National Gallery.

C At the Grosvenor.

B At the British Museum.

D At the Tate.

2 Why did Basil not want to exhibit the picture?

A Because he was afraid it showed the secret of his heart.
B Because it would make Dorian Gray angry.

C Because he knew he wouldn't receive much money for it.

D Because he didn’t think it was good enough to exhibit.

3. What did Dorian Gray look like?
A He had golden hair and green eyes.
B He had brown hair and brown eyes.
C He had black hair and blue eyes.

D He had golden hair and blue eyes.

4. Who did Dorian Gray fall in love with?
A A nurse.

C An actress.

B A teacher.

D A painter.

5. Why did Dorian Gray decide he no longer wanted to marry Sibyl Vane?
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A Because she decided she wanted to go to Australia.
B Because she acted very badly one night.
C Because he decided she was very ugly.

D Because he discovered she had been unfaithful to him,

6. When did Dorian Gray realise his portrait had changed?

A After he had decided to marry Sibyl after all.

B Before the night Sibyl acted badly.

C After Lord Henry had come to visit him to tell him Sibyl was dead.

D When Basil came to visit him, after his visit to the opera with Lord Henry.

7. After many years Dorian revealed the portrait to Basil and then he killed
him. How?

A He shot him with a pistol.

C He poisoned him.

B He strangled him.

D He stabbed him with a knife.

8. What did Dorian ask Alan Campbell to do with Basil’s body?
A Take the body away so that it would be discovered elsewhere.

B Destroy the body scientifically.

C Throw the body into a river.

D Dig a grave for the body and bury it.

For questions 1-10, of which of the people A-F are the following statements true?
A Dorian Gray

B Basil Hallward

C Lord Henry Wotton

D Sibyl Vane

E Alan Campbell F
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